Auxiliary Problems for Chapter 23 
1.
Why would a firm stay in business in a perfectly competitive industry if all its profits are competed away?
2.
Use the following graph to answer the questions below:
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a) 
Below which price would a perfectly competitive firm shut-down in the long run?
b)
Below which price would a perfectly competitive firm shut-down in the short run?
c) At which price and quantity combination would this firm make economic profits?
d) At which price and quantity combination would this firm make normal profits (economic profits = 0)?

3.
Use the following two graphs to answer the questions below:
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a) 
At what output would this firm maximize profit?
b)
How much profit is this firm earning at the profit-maximizing output?
c)
If each firm in this market is identical to the firm portrayed above, how many firms would be in this industry? 
d)
In the long run what forces would alter this equilibrium price?

4.
For the firm in the question above, if the price dropped to $18,

a)
How much profit is this firm earning?

b) 
Would this be a long-run equilibrium? Explain.

5.
Suppose the Canadian maple syrup market is perfectly competitive at the wholesale level. The market price for maple syrup at this level is $20/gallon and each firm is maximizing profit (or minimizing losses) by producing 1,000 gallons per month. The average total cost is $35/gallon. However, the long run minimum average cost is $16 and the minimum long-run average total cost is $18/gallon. Assume that this is a constant cost industry.

a) 
What is a firm’s economic profit in the short run?
b)
What might happen in the long run?
c) What is the price in the long run?
d) What is the profit in the long run?

